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( Methocl Br‘eaklng CIOWh IDOtl'\ number‘s

4 687 - 2143
=10 000 + AOOO + 600 + 80 + 7 - 2000 - 100 - AO -3 -Break down each number-.
=10 000 + (4000 - 2000) + (600 - 100) + (80 - £0) + (7 - 3) -Then subtract the ten

thousands, thousands,

hundr‘eds, tens Ghd ones.

(IO 000+ 2000+ 500+ [0 + L - Add the answers together‘
=254/

Caledlate the sums 53 / \
1B 674 -3 814

using the method above.

/Iq 548 -12 35 \

\_

17685 -6 498
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- 8478

7 (15-8)
60 (130-70)
300 (800 -500)
1 000 (9000 - 8000)
+ 10 000 (10000 -0)

11 367

\_

Calculate
the sums bH

19521 -7 24

using the
method

-

I8 674 -3 814 19 548 - 12 35
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ADDITION

11547

+ 4587
14  (7+7)
120 (40 +80)

1000 (500 + 500)

5000 (4000 + 1000)

+ 10000 (10000 + 0)

16134

Cadlculate the sums ba using the method above.

ﬂ7568+|0 241 \ /8632+87C7C7 \

\_ AN
/8632+8 799 \ /IZ 982 + 4 789 \
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B ADDITION

Method: Br‘eoking down both numbers

Cadlculate |l 547 + A 587

0000 +1000 +500+ [0O+7+ /000 +500+80 +7
0000 +1000 + 4 000 +500 +500+ [LO+80+7+7
0000 + 5000 +1000 +120 + 14

0000 + 6000 +100 + 20 +10 + £

0000 + 6 000 + 100 + 30 + 4

16 134

/

Cadleulate the sums bU using the method above.

’ ﬂ7568+|0 241 \ /8632+87C7C7 \

\_ AN _/
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Mu|tiP|icqtion: 2—c|i3its |03 |—c|i9it

Met.hod | Method 2
53X5 5 3
=(50+3) X5 X 5
= (50x5) + (3x5) | 5 (3x5)
=250+ 15 2 5 0 (50x5)
2 6 5

\ = 265

Caleulate the sums bH using the methods above.

4 6x3 = N\

Method | Method 2
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Method 2
Method 2
Method 2

30x6 =
2L x b =
19x9 =

Method |
Method |
Method |
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Mu|tiP|icqtion: 2—c|i3its IOB 2—c|i3its

Method | Method
23 x I4 2 3
=(20+ 3) x (I0 + 4) X A
=(20x10)+ (3 x10) + (20 x 4) + (3 x £) | 2
= 200+30+80 +1I2 8 0
= 200+100 HO +10 +2 3 0

= 300+20+2 + 200
\:322 3272
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(3x4)
(20 x 4)
(3 x 10)

(20 x IO/

Caleulate the sums bH using the methods

obove.

4 0xI3 =

Method | Method 2

~
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Method 2
Method 2
Method 2

8 x 2l =
36 x 24 =
L5x 29 =

Method |
Method |
Method |
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Mu|tiP|icqtion: 2—c|i3its IOB 3—c|i3its

Method 2 \

Method |

56. icﬁ' 35. R
I?f"x G~_J_I.+”I~5f?l x:-f“l +~,“ c>_|"I+ (6% 100) + [6x30) + [£x8) 48 (6x8)
 £00-+1 000> 800+ 4001+ 600+ 1001+ 80 + 40+ 1 8 0 (630
=:UUU+ : + +8 | h h 6 00 (6 x 100)
= $000+ 1000+ 400+ 100+ 20 +8 4 00 (50 x 8
= 7000+700+20+8 1500 (50 x 30)
7728 > 000 (50 x 100)

7 7 28

/

Caleulate the sums bH using the methods above.

4 68 x 34, = N\

Method | Method 2
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Method | Method 2
23/L x 58 :
Method 2 o
Method | b
o
o |
o
o |
o |
o |
o |
o |
o |
o |
o |
o
o |
o
o |
306 x 73 n
Method 2 :
Method | -
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| ENGTH -

. What is the |en8t|'1 of the Penci| in cm? C]

s )

1 2 3 4 5 6 7 8 9

2. What is the |en3th of the Penci| in mm?C]

< P y
<
||||||||||||||||||||n|||||n|||n|n|||n|||||n|||||||||||||||||||||||||||n||nn|m|||||||m|

1 2 3 4 5 6 7 8 9

3. What is the |en3t|w of the eraser in cm? C]

eraser

1 2 3 4 5 6 7 8 9

A. What is the |en3tl'\ of the eraser in mm?C]

eraser

2 3 4 5 6 7 8




" CONVERSION BETWEEN UNITS

If You have the blg unit. work to the RIGHT

and mu|tip|3.

SuPer‘her*o

Examp|e: |cm = |Omm

lkmn = 1000 m
I = 100cm

c|ues

If you have the small unit work to the LEFT
and divide.

Examp|e: |Omm = |cm

I000m = lkm
[00cm = Im

1
If you are Working witha 2

Exqmp|e: 25mm = 2%cm
65km = 6500m
3500m = 3zkm

ComP|ete the table 53 conver*ting the units.

£0cm

L ]
'o
. ®
-——-——-——-—

m
dcm m
Im cm PR
Shem m ('%ﬂ \\'\ ;%

S0mm

cm /‘5 ,”"/ —

| Think like a 1250mm
1 suPer‘her‘o / A%I(m
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e Colour the shqpes with a flat surface Be”ow.
e Colour the shqpes with a curved and flat. surface blue.

L COlOUI" the ShOPeS Wlth Oth a CUI"VGCI SUI’"FGCG Sr‘een.
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GeometgiclPattenns

. Look at the Potter‘ns below and comP|ete the table.
Pot‘bern | Pot‘ber‘n 2 Pot‘b
|
L
2 Comp|ete the T o||owmg Potter‘ns

Armount of
mat.ches

a l 2 4 T
b. . 6 I

c. LT 10

[l

Pattern

3. ComP|ete the flow cliogr‘oms.
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